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Polynomials

Quiz

Select the best answer.


1.
Which monomial has the same 
degree as 6a2b8c?


A
18t8

B
12p6q5

C
9a5b3c2

D
6w4x2y3z3

2.
Which of the following is a cubic
binomial with a positive leading coefficient?


F
8 ( 27x3

G
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3.
Which polynomial is equal to 
(3x2  2x  3) subtracted from 



(x3  x2  3x)?


A
(2x3  2x2  x  3


B
2x3  2x2  x  3


C
x3  2x2  x  3


D
x3  2x2  x  3


4.
Simplify (2  3x)(3x2  2x  1).


F
9x3  x  2


G
9x3  12x2  x  2


H
6x3  4x  3


J
6x3  13x2  4x  3


5.
Which polynomial is equal to (x5  1) divided by (x  1)?


A
x4  x3  x2  x  1


B
x4  x3  x2  x  1


C
x4  x3  x2  x  1


D
x4  x3  x2  x  1


6.
Simplify (x3  5x2  5x  2) ( (x  2).


F
x2  3x  1


G
x2  3x  1


H
x2  3x  1


J
x2  3x  1


7.
Which of the following is a factor 
of (x4  27x2  14x  120)?


A
x  2


B
x  3


C
x  4


D
x  5


8.
What is the complete factorization 
of (x8  2x4  1)?


F
(x2  1)2(x2  1)2 


G
(x2  1)2(x  1)2(x  1)2

H
(x4  1)(x4  1)


J
(x4  1)2

9.
Factor 27x3  64.


A
(3x  4)(9x2  12x  16)


B
(3x  4)(9x2  12x  16)


C
(3x  4)(9x2  12x  16)


D
(3x  4)(9x2  12x  16)


10.
Factor 8x3  125.


F
(2x  5)(4x2  10x  25)


G
(2x  5)(4x2  10x  25)


H
(2x  5)(4x2  10x  25)


J
(2x  5)(4x2  10x  25)


11.
Expand (t  2)5.


A
t 5  32


B
t 5  5t 4  10t 3  10t 2  5t  1


C
t 5  5t 4  10t 3  20t 2  40t  32


D
t 5  10t 4  40t 3  80t 2  80t  32

Polynomials

Quiz continued

12.
Simplify 
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13.
At a security checkpoint, 1 in 8 vehicles is selected for a thorough search. If a convoy of 10 vehicles travels through the checkpoint, what is the approximate probability that exactly 2 of the vehicles will be searched? 


A
0.24
C
0.52


B
0.48
D
0.76


14. Write a third degree trinomial with a leading coefficient of 4.



15.
What is (2x2  6x  3) added 
to (2x3  3x  2)?


16.
What is (c  h)4?


17.
What is the complete factorization 
of (1  16x4)? 

18.
What is (p  3r)5?


19.
What is the complete factorization 
of (1  256x8)?

Polynomial Functions
Answers 
Module 3 Quiz

1. B

2. G

3. D

4. G

5. B

6. H

7. C

8. G

9. B

10. H

11. D

12. F

13. A

14. Many answers; for example, 4x3 ( 3x2 ( 6

15. 2x3 ( 2x2 ( 3x ( 1

16. c4 ( 
4c3h ( 6c2h2 ( 4ch3 ( h4
17. (1 ( 4x2)(1 ( 2x)(1 ( 2x)
18. p5 ( 15p4r ( 90p3r2 ( 270p2r3 ( 
405pr4 ( 243r5
19. ((2x ( 1)(2x ( 1)(4x2 ( 2x ( 1)
(4x2 ( 2x ( 1)
Module 4 Quiz

1. B

2. H

3. C

4. H

5. B

6. F

7. B

8. G

9. {-6, 0, 3}




10. Something like this:
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 11. Something like this: 
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